

# Effingham County

# Purchasing

# Danielle Carver, Procurement & Capital Projects Manager

804 S Laurel Street, Springfield, GA 31329

## **EVALUATION TABULATION**

ITB No. 25-ITB-092

Gateway Parkway Extension- Construction

RESPONSE DEADLINE: July 10, 2025 at 3:00 pm Report Generated: Monday, July 28, 2025

#### **SELECTED VENDOR TOTALS**

Vendor	Total
J W Oliver Construction, Inc.	\$4,536,229.16
Reeves Construction Company	\$5,087,400.00
C. W. Matthews Contracting Co., Inc.	\$5,580,864.696
JA Long Inc	\$5,827,553.34
Sea Island Land Development	\$7,146,361.82

## TABLE 1

				latthews ng Co., Inc.	JA Lo	JA Long Inc		J W Oliver Construction, Inc.		Reeves Construction Company		Sea Island Land Development		
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
PAVING, GRADING & DRAINAGE SYSTEM														

		Description				Matthews ing Co., Inc.	JA Lo	ong Inc		Construction, nc.	Reeves Construction Company		Sea Island Land Development	
Selecte d	Line Ite m		Quantit y	tit Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	Clearing and Grubbing, incl. street R/W, easements & other areas as shown on the plans	17.4	AC	\$3,370.79	\$58,651.746	\$30,000.00	\$522,000.00	\$6,000.00	\$104,400.00	\$3,850.00	\$66,990.00	\$4,093.40	\$71,225.16
X	2	Grading and Project Miscellaneous shall include all grading, including off-site removal and replacement of unsuitable material, on and off-site borrow as needed, placing, shaping, and compacting 24" pavement subgrade, to meet the finished grades shown on the plans, and project staking, testing, insurance, bonds & all miscellaneous items not included elsewhere in this bid schedule to complete the project in accordance with the plans & specifications	1	LS	\$637,325.2	\$637,325.20	\$750,000.0	\$750,000.00	\$426,801.0	\$426,801.00	\$428,483.0	\$428,483.00	\$1,951,929. 80	\$1,951,929. 80
Х	3	Removal of Excess Cut	13500	CY	\$15.23	\$205,605.00	\$32.00	\$432,000.00	\$9.75	\$131,625.00	\$18.00	\$243,000.00	\$14.70	\$198,450.00
Х	4	Removal of Unsuitables	6000	CY	\$15.44	\$92,640.00	\$15.00	\$90,000.00	\$10.50	\$63,000.00	\$18.50	\$111,000.00	\$14.70	\$88,200.00
X	5	Replacement of Unsuitables	6000	CY	\$21.96	\$131,760.00	\$16.50	\$99,000.00	\$18.00	\$108,000.00	\$19.50	\$117,000.00	\$14.70	\$88,200.00

Invitation For Bid - Gateway Parkway Extension- Construction

Page 2

						Matthews ing Co., Inc.	JA Lo	ong Inc		Construction, nc.		onstruction npany	Sea Isla Develo	nd Land pment
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	6	15" RCP CLASS III	90	LF	\$75.07	\$6,756.30	\$100.00	\$9,000.00	\$58.69	\$5,282.10	\$71.50	\$6,435.00	\$65.42	\$5,887.80
Х	7	18" RCP CLASS III	310	LF	\$83.44	\$25,866.40	\$100.00	\$31,000.00	\$65.98	\$20,453.80	\$87.50	\$27,125.00	\$71.87	\$22,279.70
Х	8	24" RCP CLASS III	545	LF	\$103.79	\$56,565.55	\$120.00	\$65,400.00	\$92.05	\$50,167.25	\$110.00	\$59,950.00	\$100.67	\$54,865.15
Х	9	30" RCP CLASS III	345	LF	\$133.03	\$45,895.35	\$150.00	\$51,750.00	\$142.26	\$49,079.70	\$147.60	\$50,922.00	\$130.09	\$44,881.05
Х	10	36" RCP CLASS III	120	LF	\$180.67	\$21,680.40	\$180.00	\$21,600.00	\$169.01	\$20,281.20	\$187.50	\$22,500.00	\$158.50	\$19,020.00
Х	11	18" RCP Flared End Section	4	EA	\$1,345.17	\$5,380.68	\$700.00	\$2,800.00	\$1,300.00	\$5,200.00	\$1,450.00	\$5,800.00	\$1,192.00	\$4,768.00
Х	12	24" RCP Flared End Section	6	EA	\$1,558.50	\$9,351.00	\$1,200.00	\$7,200.00	\$2,100.00	\$12,600.00	\$1,950.00	\$11,700.00	\$1,679.00	\$10,074.00
Х	13	30" RCP Flared End Section	6	EA	\$1,783.72	\$10,702.32	\$1,300.00	\$7,800.00	\$2,400.00	\$14,400.00	\$2,175.00	\$13,050.00	\$1,882.00	\$11,292.00
Х	14	36" RCP Flared End Section	2	EA	\$2,317.96	\$4,635.92	\$2,000.00	\$4,000.00	\$3,200.00	\$6,400.00	\$3,575.00	\$7,150.00	\$2,800.74	\$5,601.48
Х	15	15" Metal Safety End Section	4	EA	\$1,699.68	\$6,798.72	\$350.00	\$1,400.00	\$900.00	\$3,600.00	\$960.00	\$3,840.00	\$879.32	\$3,517.28
Х	16	18" Metal Safety End Section	6	EA	\$1,942.38	\$11,654.28	\$550.00	\$3,300.00	\$1,200.00	\$7,200.00	\$1,175.00	\$7,050.00	\$1,181.00	\$7,086.00
Х	17	24" Metal Safety End Section	2	EA	\$2,427.77	\$4,855.54	\$900.00	\$1,800.00	\$2,000.00	\$4,000.00	\$1,550.00	\$3,100.00	\$1,679.00	\$3,358.00
X	18	Drainage Basin Outlet Weir (Concrete Spillway)	1	EA	\$58,957.57	\$58,957.57	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00	\$58,000.00	\$58,000.00	\$43,010.00	\$43,010.00

Invitation For Bid - Gateway Parkway Extension- Construction

						Matthews ing Co., Inc.	JA Lo	ong Inc		Construction,		onstruction npany	Sea Island Land Development	
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	19	8" Graded Aggregate Base Course, Placing, Mixing, Shaping & Compacting	26500	SY	\$29.75	\$788,375.00	\$24.00	\$636,000.00	\$26.83	\$710,995.00	\$30.25	\$801,625.00	\$27.74	\$735,110.00
Х	20	4" (minimum thickness) Asphaltic Base Course, GDOT 25mm Superpave	26500	SY	\$26.73	\$708,345.00	\$23.85	\$632,025.00	\$26.26	\$695,890.00	\$22.25	\$589,625.00	\$31.05	\$822,825.00
Х	21	2" (minimum thickness) Asphaltic Intermediate Course, GDOT 19mm or 25mm Superpave	26500	SY	\$14.88	\$394,320.00	\$12.50	\$331,250.00	\$13.46	\$356,690.00	\$12.40	\$328,600.00	\$16.10	\$426,650.00
Х	22	2" (minimum thickness) Asphaltic Surface Course, GDOT 12.5mm Superpave	26500	SY	\$14.99	\$397,235.00	\$13.00	\$344,500.00	\$14.04	\$372,060.00	\$13.20	\$349,800.00	\$17.25	\$457,125.00
Х	23	Saw Cut Clean Edge Existing Pavement	2250	LF	\$3.47	\$7,807.50	\$3.00	\$6,750.00	\$3.00	\$6,750.00	\$3.50	\$7,875.00	\$4.50	\$10,125.00
Х	24	Rip-Rap (see plan for pad dimensions)	425	SY	\$158.78	\$67,481.50	\$100.00	\$42,500.00	\$198.00	\$84,150.00	\$180.00	\$76,500.00	\$125.00	\$53,125.00
Х	25	Silt Fence - Type "NS"	11500	LF	\$3.20	\$36,800.00	\$3.00	\$34,500.00	\$3.00	\$34,500.00	\$3.05	\$35,075.00	\$2.25	\$25,875.00
Х	26	Silt Fence - Type "S"	2250	LF	\$4.33	\$9,742.50	\$1.00	\$2,250.00	\$5.00	\$11,250.00	\$4.10	\$9,225.00	\$3.00	\$6,750.00
Х	27	Construction Exit	1	EA	\$6,138.61	\$6,138.61	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00	\$3,800.00	\$3,800.00	\$6,500.00	\$6,500.00
Х	28	Concrete Washout	1	EA	\$3,897.81	\$3,897.81	\$500.00	\$500.00	\$500.00	\$500.00	\$950.00	\$950.00	\$1,500.00	\$1,500.00
X	29	Retrofit	1	EA	\$3,042.36	\$3,042.36	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$4,650.00	\$4,650.00	\$50,000.00	\$50,000.00

Invitation For Bid - Gateway Parkway Extension- Construction

Page 4

						Matthews ing Co., Inc.	JA Lo	ong Inc		Construction, nc.		onstruction npany	Sea Island Land Development	
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	30	Channel Stabilization & Check Dams	1	LS	\$152,239.2 4	\$152,239.24	\$30,000.00	\$30,000.00	\$17,500.00	\$17,500.00	\$12,000.00	\$12,000.00	\$31,440.00	\$31,440.00
Х	31	Grassing, incl. temporary mulch and dust control	57500	SY	\$2.47	\$142,025.00	\$1.34	\$77,050.00	\$0.41	\$23,575.00	\$1.15	\$66,125.00	\$1.25	\$71,875.00
Х	32	Traffic Control, incl. MOT plan	1	LS	\$46,058.43	\$46,058.43	\$137,708.3 4	\$137,708.34	\$25,000.00	\$25,000.00	\$45,000.00	\$45,000.00	\$40,000.00	\$40,000.00
Х	33	Signage & Striping	1	LS	\$87,640.45	\$87,640.45	\$75,000.00	\$75,000.00	\$80,000.00	\$80,000.00	\$85,000.00	\$85,000.00	\$82,000.00	\$82,000.00
Х	34	Concrete Islands with Mountable Curb	2	EA	\$8,651.69	\$17,303.38	\$5,500.00	\$11,000.00	\$7,000.00	\$14,000.00	\$8,750.00	\$17,500.00	\$8,000.00	\$16,000.00
Χ	35	Demo Existing Items	1	LS	\$13,001.52	\$13,001.52	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$9,700.00	\$9,700.00	\$13,506.00	\$13,506.00
Х	36	Relocate/Remove/Repl ace Existing Items	1	LS	\$10,511.16	\$10,511.16	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,800.00	\$3,800.00	\$25,000.00	\$25,000.00
WATER I	DISTRI	IBUTION SYSTEM			L		I		L		L			
Х	1	20" Water Main (incl. fittings & thrust restraints)	5100	LF	\$152.90	\$779,790.00	\$143.70	\$732,870.00	\$111.11	\$566,661.00	\$154.25	\$786,675.00	\$212.80	\$1,085,280. 00
Х	2	16" Water Main (incl. fittings & thrust restraints)	10	LF	\$340.27	\$3,402.70	\$380.00	\$3,800.00	\$114.89	\$1,148.90	\$1,900.00	\$19,000.00	\$162.30	\$1,623.00
X	3	12" Water Main (incl. fittings & thrust restraints)	175	LF	\$104.39	\$18,268.25	\$120.00	\$21,000.00	\$87.83	\$15,370.25	\$284.20	\$49,735.00	\$121.25	\$21,218.75

						Matthews ing Co., Inc.	JA Lo	ong Inc		Construction, nc.	Reeves Construction Company		Sea Island Land Development	
Selecte d	Line Ite m	Description	Quantit y	t Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	4	20" Steel Casing (Direct Bury)	150	LF	\$203.40	\$30,510.00	\$220.00	\$33,000.00	\$155.00	\$23,250.00	\$193.50	\$29,025.00	\$155.25	\$23,287.50
Х	5	Ductile Iron Pipe Encasement at Storm Crossings	140	LF	\$366.67	\$51,333.80	\$650.00	\$91,000.00	\$190.00	\$26,600.00	\$601.50	\$84,210.00	\$400.00	\$56,000.00
Х	6	20" Butterfly Valve in Manhole	8	EA	\$21,049.44	\$168,395.52	\$32,000.00	\$256,000.00	\$19,257.61	\$154,060.88	\$28,195.00	\$225,560.00	\$23,832.00	\$190,656.00
Х	7	20" Resilient-Seated Gate Valve in MH	1	EA	\$58,879.78	\$58,879.78	\$43,000.00	\$43,000.00	\$64,062.00	\$64,062.00	\$40,610.00	\$40,610.00	\$23,832.00	\$23,832.00
Х	8	16" Butterfly Valve in Manhole	1	EA	\$17,315.73	\$17,315.73	\$18,000.00	\$18,000.00	\$16,756.87	\$16,756.87	\$14,855.00	\$14,855.00	\$21,851.25	\$21,851.25
Х	9	12" Resilient-Seated Gate Valve in MH	2	EA	\$15,237.08	\$30,474.16	\$16,000.00	\$32,000.00	\$12,416.18	\$24,832.36	\$12,625.00	\$25,250.00	\$12,371.70	\$24,743.40
Х	10	Fire Hydrant w/6" Valve & Box	5	EA	\$14,184.27	\$70,921.35	\$12,000.00	\$60,000.00	\$10,793.17	\$53,965.85	\$11,525.00	\$57,625.00	\$13,460.70	\$67,303.50
Х	11	Air Release Valve	1	EA	\$10,355.06	\$10,355.06	\$9,000.00	\$9,000.00	\$5,650.00	\$5,650.00	\$15,725.00	\$15,725.00	\$3,200.00	\$3,200.00
Х	12	Permanent Sampling Station	1	EA	\$7,696.63	\$7,696.63	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$7,375.00	\$7,375.00	\$3,800.00	\$3,800.00
X	13	Remove/Replace Existing Valve Vault Frame/Cover	1	EA	\$5,885.39	\$5,885.39	\$3,300.00	\$3,300.00	\$10,000.00	\$10,000.00	\$4,800.00	\$4,800.00	\$13,000.00	\$13,000.00
Х	14	Connect to Existing System at Point Provided (Wet Tap 36" Main)	1	EA	\$32,465.17	\$32,465.17	\$24,000.00	\$24,000.00	\$31,320.00	\$31,320.00	\$23,150.00	\$23,150.00	\$95,795.00	\$95,795.00

Invitation For Bid - Gateway Parkway Extension- Construction

Page 6

					C. W. Matthews Contracting Co., Inc.		JA Long Inc		J W Oliver Construction, Inc.		, Reeves Construction Company		Sea Island Land Development	
Selecte d	Line Ite m	Description	Quantit Y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	15	Connect to Existing System at Point Provided (Remove Plug)	1	EA	\$8,124.72	\$8,124.72	\$1,000.00	\$1,000.00	\$5,701.00	\$5,701.00	\$13,860.00	\$13,860.00	\$5,720.00	\$5,720.00
Total	Total					\$5,580,864.6 96		\$5,827,553. 34		\$4,536,229. 16		\$5,087,400. 00		\$7,146,361. 82